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6.2 - Sum, Difference, and Double Angle ldentities

1. Simplify each expression using identities and then give an exact value for each
expression.

a) cos 25°cos 5° — sin 25°sin 5°

= (0S(25°+ 57)

> Cos(30°)
= V3
-4

b) sin 40° cos 20° + cos 40°sin 20°
= sin(40" + 207)
Sin (b07)
6]

z

w

1t

v i n . 7
¢) sin—cos—+ cos—sin—
3 6 3 6

= Sin (j;: %)

s (2
= Sin (-’%r)
= sm(l,[)

-
2. Simplify each expression below.
a) sin(90° + A)
SiN(0°)COS(A) + COS(10°)sin(A)
(1)CosA + (0)(sinA)
COSA

7 T L 7T . T
d) cos 5 Ccoss +sin—sinz
= ’ﬂ_‘“_"f)

cos( -3

g LN
(LOS( 2 12

cos %
cos( )
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B
7 A

oy cos(4-2)
> Cog(A)eos () + sin(a) sin(T)
COS(A) (o) + sin(A)(1)
0 -sin(k)
> —Sin(A)
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3. Simplify each expression to a single trigonometric function and then evaluate.

a)2 Singcos% b) cos? ';E' — sin? g

= sin( %) = tos ()

- sin(E) - L
2
= \3
A
¢) 1 — 2sin?15° d) 2tan%ﬁ
- eog(z(l55)> 1-tan?=
= 2 pLE
= 00s(30°) ] /hn(z(ﬂf’ )
- 3 * Aan (Z)

‘ * Aan (%)
= \3
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4. Determine the exact value of each trigonometric expression below.

a)cos— = COS (‘g: 12. b) tan15° = an (‘*50'30.) |
- COS('[C-.- = ’hn",'S""‘aﬂ30°
= COS@COS(4> +Sm _%,)Sm(,%_) \ %{(ﬂmff,,‘anw
~ R E
(3% (22
((*)v3)
’ ﬁ ¥ \[E 2
ZE feel
V3
-2+ (311
4 V3
- \3-1
{3+l
) sin105° = S'\n(bo°+4-5') d)sin-zlg—; = SIn (E‘}E + 8‘1;
= Sin(b0")cos(457) + Cos( @0 sin(45") -sin(f + )
¥3\ (V2 2
() (L) e = sin(F)oos( ) + s (o ysin(2Z
AN AV
© = (-2\(-1\ . [-3\(3
¢ . ()« (-9)(9)
- 2 o
z G
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5. ifcosd = g and sinB = é and angles A and B are not in the first quadrant, determine
the following values:

a) cos(4A + B) b) tan 24 ¢) sin(4 — B)
Argle A Angle B
S
2
h (e
k@t ()
K+ig=2S
603%——\%_1 x*= 21
' el sB = £ x=+2)
y=ma AT > X -V3 !
5= -3 S\“A & —_3_
4
=-3
fana &
a) CS(AtB) b) 4an 22 g sin(A-B)
= COSACOS B - SinAcinB = 2dzanA = SINACOSB -COSASINB
7 - - = - —-.3_. ’@ — E =
(DrD)-(2)3 i (3(%)- (23
- 2 -3
g i o) $ 3B 28
20 _[(-33\%
= | (‘ﬁ*) = 32 —24F
> ~JHF Ho ) =
P VF
-3
= b
. 42l
-Z
@
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B.lfcoszA = ﬁ- and 24 is in Quadrant IV, determine the exact value of sin 24

0 2 (2" + (yy*= ()"
; 4 +y* =9 CoRA = %
‘3 Bz>ls S*W]A = -5
Y=-5 3

SiN2A = 2<inAcosA
- -5
(2)/( ’E)( ‘%-3

= -;[_2._(_2
o



